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Multiplying with Decimals

Solve each problem.

1) 6.38

-

k4 5.2
1276
+31900

33176

1) 1.4
x 3.1
814
+24420

FUlg .S

7) 90.9

2727

- 18180
200.07

10) 208
* 9.2
596

+ 26820

27.416

2) 945.3
x 3.4
37812

+ 283390
3.214.02

5 50.50
x 8.0

0

+404720

8) 15.76

12608
+ 141840
154 448

11) Q778
x 7.4
30112

+ 684460
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Unit 4, Station S, Round 1.

Task 8
3 ——
36 . 33.176
126
- . 3.214.02
- '53 u
e . 756
. 25234
s 404.720
6 45
x 4.1 6. 18.45
+ 1800 T 209.07
L84 s 154.448
. 4.07
o 27.416
9) 3.7
® 1. n  7.235.72
P n 2.55
407
1) 15
w 1.7
105
+ 150




